03090-01_D MFIHAHEWND EH , TIRDERR, BREHELLF. K

HBENNERES

7= miiEA

M
WEIAIE
BYERMAEENSXAE S TN,

THNAE
HEMHELELLE
IR ER 1.4305.
EETNS 1.4034.

HEMHERZELAE :
1R ER 1.4305.
HEETN4 1.4305.

BEIEFNET , RAREHERHIRK,

A

Wit :
BUERRLBBECAE,
EEMHEEY K KITENZRSEIL.

THEMAE

RUER , 7.

HEMELEL, TELE , =6,
HEMHERLEL, 2TENRE,

RIRGBERKLF,
[RE¥ERAZ T,

NA :
HRSERBEN D EHEI T — R T RENT RS, ATER
HEEMHELEFREN TERSS,

=N

Tk TR

AR TEBNARL AN

BHEAC B Sth BB A EKIE TR Al
T TR,

B
M%< 85875

ZE
HERBEBENIEETESATHIARRHZSRE,

© norelem www.norelem.com



03090-01_D NHHAFENoEH , TIRSEREE, BRHEHLIEF, &

H SR 81 R IR

D2

\{ a1

NA

L1 L2

s
£

-0,02
D -0,04

03090-01-4105 D | fHl |ZFELLE 5 M10x1 35| 5 |57[17| 7 |15| 13 17 1,3 5 5 12
03090-01-4206 D | W&l |2@{tt®E 6| M12x1,5 35| 6 |62[20| 8 [17| 14 19 1,8 6 6 14
03090-01-4308 D | W&l |Z@{tt®E 8| M16x1,5 35| 8 [76(26/10|23] 19 24 2,3 8 15 35
03090-01-4410 D | &l |2W{LE 10| M20x1,5 35| 10 |82(28|12|25| 22 30 28 10 15 34
03090-01-4412 D | W& |2@{LaE 12| M20x1,5 35| 12 |86(28|14|25| 22 30 28 12 15 39
03090-01-04105 D |7F8W| KE{LLE 5 M10x1 35| 5 [57|17| 7 [15] 13 17 1,3 5 5 12
03090-01-04206 D |7A5W | 2@{tt®E 6| M12x1,5 35| 6 |62[20| 8 [17| 14 19 1,8 6 6 14
03090-01-04308 D |[T™8W| ZELE 8| M16x1,5 35| 8 [7626/10(23] 19 24 2,3 8 15 35
03090-01-04410 D |78 2{LE 10| M20x1,5 35| 10 |82(28|12|25| 22 30 28 10 15 34
03090-01-04412 D |[7A5WN| 2@{t®E 12| M20x1,5 35| 12 |86(28|14|25| 22 30 28 12 15 39
03090-01-14105 D |78 | KE{LLE 5 M10x1 35| 5 [57|17| 7 [15] 13 17 1,3 5 5 12
03090-01-14206 D |7A8W| KE{LLE 6| M12x1,5 35| 6 |62[20| 8 [17| 14 19 1,8 6 6 14
03090-01-14308 D |7%%| kE{LatE 8| M16x1,5 35| 8 |76(/26|10(23| 19 24 2,3 8 15 35
03090-01-14410 D |74 RE{LALE 10| M20x1,5 35| 10 |82(28|12|25| 22 30 28 10 15 34
03090-01-14412 D |FA8W| RkE{LALE 12| M20x1,5 35| 12 |86(28|14|25| 22 30 28 12 15 39

© norelem www.norelem.com



